
Mixed Messages
Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 512 mebibytes

Nikita received some messages today. One of the messages was the code word “spbsu”. Before and after the
code word, there may have been any number of other messages as well. The other messages are arbitrary
strings of lowercase English letters.

All the messages were sent via a secret channel, one by one. So, the string in the channel initially was a
concatenation of all the messages.

However, being secret, the channel may introduce noise: different messages may interfere with each other.
Formally, the noise comes in form of swaps. In each swap, the channel selects and exchanges two adjacent
letters in the string that initially belonged to different messages. For letters of any particular
message, the relative order is preserved.

After all swaps, the resulting string is received by Nikita. Given the resulting string, find the minimum
possible number of swaps made by the channel.

Input
The first line contains a single integer n: the number of received characters (5 ≤ n ≤ 105).

The next line contains a string s consisting of n lowercase English letters: the resulting string received by
Nikita. It is guaranteed that this string is the result of the process described above.

Output
Output a single integer: the answer to the problem.

Examples
standard input standard output

6
spbssu

1

15
spongebaseurban

11
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